22.01.2021
LO: Arithmetic Practise
1. 349 + 40 =
2. Round 842 to nearest 10
3. 2783 + 4542 =
4. 4005 – 3998 =
5. 67 x 10 =
6. 5800 ÷ 100 =
7. Round 4352 to nearest 100
8. What is the perimeter of a square with sides of 6cm?
9. 5062 – 2317 =
10. 4 + 8 + 2 + 7 =
11. 4 x 9 =
12. 36 ÷ 3 =
13. 83cm = ___mm
14. 4376 – 2509 =
15. 5000 – 2783 =
Finished – Now try this https://nrich.maths.org/6924


22.01.2021
LO: Arithmetic Practise
1. [bookmark: _GoBack]349 + 40 = 389
2. Round 842 to nearest 10 = 840
3. 2783 + 4542 = 7325
4. 4005 – 3998 = 7
5. 67 x 10 = 670
6. 5800 ÷ 100 = 58
7. Round 4352 to nearest 100 = 4400
8. What is the perimeter of a square with sides of 6cm? 6 x 4 = 24
9. 5062 – 2317 = 2735
10. 4 + 8 + 2 + 7 = 21
11. 4 x 9 = 36
12. 36 ÷ 3 = 12
13. 83cm = 830mm
14. 4376 – 2509 =1867
15. 5000 – 2783 =2217

